N = 0 &8 AF S 9 Al A
20149 = 20l A LS H MEXHE
SAN: ME XA D
HE: HOI2 KMl 22
ol MEMYD HE CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
A ST 47,450,401 48,612,126 N 1,161,725
= 10,070,920
< 7,180,120
Al 30,199,361
HOlE2 XH™el el 46,404,603 47,789,557 AN 1,384,954
= 10,070,920
< 7,170,150
Al 29,163,533
MEMY D] HEH 22 18,682,170 19,459,590 NTTT,420
=2 97,920
Al 18,584,250
QIIQAEAIL (MEHDIIZS =TS8 17,417,260 16,976,482 440,778
101 @1 21| 82,585 70,282 12,303
04 JI2ZtHI2E2XNSEE 82,585 70,282 12,303
OLHANZHAXN 28 BX 56,029
>IlE23 47,400 301 x 188 26,734
> a2 26,734,000 3/9 8,912
>DFEEsaY 47,400 301 x40 5,688
DA 47,4003 «301 %9 1,280
>aaldl € nE| 250,000& *3021 x9& 6,750
>DEE= 6,215,000 *14] 6,215
> Il S dl 150, 000& «3¢Q! 450
OREEX MgI|l = AXH 26,556
>ol23 47 4003 121 %250 11,850
DA 3 11,850, 000& *4/12 3,950
>EELE 47,4003 %1021 x52 2,465
DAIE 47,4003 121+ 12 569
>aZald € DSl 250,000 x1Q1x12& 3,000
>DEE= 2,752,000& x 14 2,752
DEXNAZ HE= 1,820,000& 14! 1,820
> Il S 4l 150,000& «1Q! 150
201 et | 88,040 65,440 22,600
01 At 22l ] 12,240 12,240 0
O1 getx=2H| 10,000
>MHIIE0D L 22UhE 2R
10,000, 0003 *14] 10,000
03 2g+g 2,240
DHANSTSRE AR HALY
70,0003 *891 x4 3] 2,240
02 382 H| 75,800 53,200 22,600
O1222=2 % HA 7,800
DLHAZ HAXN(ANSUHAM S 2222)
2,200,000& =3CH 6,600




SN HETE D
X HolE Xel 2
Selr MMyl FE2ae

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
DAt AN (MASIHN S S22R3)
1,200,000& = 1CH 1,200
O4 X2t et 68,000
DLUHAE HAXNY SRAL(KRFUH,ZUSA
Hl) 20,000,000& =3CH 60,000
Dot HAXYE RAL(SFH, ZHISIH)
8,000,000 = 1CH 8,000
207 A RO H| 38,000 20,000 18,000
01 22 ESHI 38,000 20,000 18,000
OFLUHHLAMOIZHEH L MEHIIE) BIES
19,000, 0003 * 1Al 19,000
020158 ME@HIIEe 5 =828 Melds &
s 89 19,000, 0002 14! 19,000
307 21201 A 17,208,635 16,820,760 387,875
05 RIZt2l & 3 17,208,635 16,820, 760 387,875
ON2dAL 89 6,406,835,000& 14 6,406,835
OUEHIIZE /& Xel 9 68,4002 +5,300& 362,520
OMEHIIZ +7 - 29 89
103,830& *3,500E * 122 4,360,860
OMEE Jts HIIE +7 - 28 8
2,634,420,000& 14 2,634,420
OUEHIIZ +7 - 24 89
290,000,000& 14 290,000
ORHX HIIZE =& - 28 HH
40,000,000& » 14! 40,000
OSASRHIIS 28 - 2B (L)
187,000& *800E + 12 1,795,200
OSNS2RHIIS =8 - 2HHH(TSFH)
111,000& x900E 12 1,198,800
OSAME MESNHEI ME2HHI
10,000, 000& =128 120,000
SEM RA=SE HME L B2 614,290 492,560 121,730
201 L2l 111,840 91,520 20,320
01 At 2t 2l 106,920 87,120 19,800
O1 get==EH| 106,920
DESH 25 AT £42
270,000,000& *3.3%*12& 106,920
02 8323l 4,920 4,400 520
O3 A& &l |Xdl 4,920
DEHEMAZSE HIDEANLAE S+
1,230,000& x4 3] 4,920
206 M= Hl 502,450 401,040 101,410
01 =8l 502,450 401,040 101,410
oMl SHHAZEFE HE(HAIS , LBHE 1
0f ) 403 x800,0000H 32,000




SN HETE D
X HolE Xel 2

S MEMy Il HH e (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OMYI| SHHREASE HME(HAES, LEtg 2
04 ) 59& *2,300,0000H 135,700
OMYI| SHHREASE MHE(LE - 338 50
2 ) 120-& *800, 0000H 96,000
OMYI| SHHREASE HE(LE - 332 10
) 21321 %530, 00004 112,890
+HAESE 0t H 2 (502 )
500& %30, 0000H 15,000
OELR2Z=2E 0t M A (1004 )
600-& *30, 000 0H 18,000
OMA DI E HE(SAZ2 0 24
=) 36:& 600, 0000H 21,600
OSAZ2&E (104 2 15) 342 300, 0000H 10,200
osT M 2,560, 000& * 14 2,560
OMEZE Otth & & [ (1004 )
4503 *130, 00001 58,500
HOolE2 fSHED| X 453,220 381,471 71,749
101 @121l 106,210 46,841 59,369
04 JI2ZtHZ2E2XNEE S 106,210 46,841 59,369
OMEHII 2 RFHEI Hx5A 53,105
>II23 47,4003 #2021 %250 23,700
>AWS 23,700,000& *4/12 7,900
>Es4 47,4003 »201 x52 4,930
> A G 47,4003 201 x 12 1,138
>3Aad & wsEHl 250,000& 201 x12& 6,000
>DEES 5,498,000& * 14 5,498
DEXMNAZ MY S 3,638,940 * 14! 3,639
> Il =4l 150, 000& 20! 300
OSAEE HIIZ2 RHYE)I 23 53,105
>II23 47,4003 %201 %250 23,700
>ANWS 23,700,000& *4/12 7,900
>EEH 47,4003 »201 x52 4,930
> A X E 47,4003 #2001 x 12 1,138
>ZAad & WSl 250,000& 201 x12& 6,000
= = 5,498,000& x 14 5,498
DEXMNAZ MY S 3,638,940 * 14! 3,639
> Il S H| 150, 000& 20! 300
201 Bt A H| 62,430 61,050 1,380
01 At 22l Yl 6,800 11,100 A 4,300
O1 dEtx=2H| 4,700
DMY I RHED cEg S50 H &
50,000& *50JH 2,500
DAY I REHED HEE 2 7Y
00& x1,500Z dl 450




SN HETE D
X HolE Xel 2

el MEMYD HFae (S &2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
DHII=ZEA =2 350,000& »5A 1,750
O5 Il =l 600
DEEISN IS 150, 000 & 40! 600
o6 Itz 1,500
DEHMEHIIS &#2E 24D Iz
500,000& =33l 1,500
02 3322l 55,630 49,950 5,680
O1 38322 % HA 25,830
DMYIRHED HEXNSE SN S 33
23 750,000& = 1CH 750
DM D RHEI HEE FSUHE 2=
50,000& »12& 600
D MY D SEHEI ZAIM0H2 EIIRS
25,0003 *341 & =128 10,200
DMYD| REHED| ZAIHCH AIAE TS A
=X 1,190,000& »12& 14,280
O3 A€ &l |Xdl 23,800
DM SEHEI] 2AIItH & ADE &
e KIel 700,000 *340H4 2~ 23,800
O4 Xt - det] 6,000
DMYI RPHEI| HENSEFRAU(FERH,E
Bl XI8l) 6,000,000 = 1CH 6,000
202 o4dl 10,080 10,080 0
01 = LH o4 1l 10,080 10,080 0
OMdEHIIE UM & HHEAMEE NE=EZ
840,000 128 10,080
206 M= Hl 8,000 8,000 0
01 =8l 8,000 8,000 0
SelotRA SdFMHLAAY AFE 2L (LFA
SEH) 200,000& *50 & x8& 8,000
303 Z& 3 5,500 5,500 0
01 X432 5,500 5,500 0
OlZE]E ANH 2 SEHS L= 5,500
Drlfs SHS 800,000 24 2 1,600
e SHES 700,000 *30 & 2,100
D& SHS 600,000 *30H £ 1,800
307 gl2tol & 250,000 230,000 20,000
02 RIZHENEXS 250,000 230,000 20,000
OMHIIE0III(Zero-Waste) =& 28 W=
30,000,000& =14 30,000
OSeSsAg(2=25 FA) il =
220,000,000& 14 220,000
401 AIEHIZ 28I 11,000 18,000 A7,000




DM ETHA

M HOIE2 HMel 2

DAEMY D] HEF e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 11,000 18,000 A7,000
OMY Il RHEI| 4&SXY ANE ZBDE(CCT
V) X 5,500, 000 «2CH 11,000
MITASHE 29 1,560 1,560 0
301 et 8= 1,560 1,560 0
NIIEEd=s 1,560 1,560 0
OMY I REHEI] MDD AZ 100,000 x12& 1,200
Ol 83 A9 MDEAS 30,0008 128 360
SESYO0E Melkla A 195,840 226,400 A 30,560
= 97,920
Al 97,920
403 Ut SHHSA=0l& 195,840 206,400 A 10,560
= 97,920
Al 97,920
02 S| 2 S0il CH &HCH & A 195,840 206,400 A 10,560
OLZF£Y0E MelXld At
2,880,000 »68= 195,840
= 97,920
Al 97,920
HII=2XM2ANE X £ 2IAS 27,255,294 28,062,655 A807,361
= 9,956,000
< 7,167,000
Al 10,132,294
SASHIALE QRS (HE )AL 2,895,700 2,221,580 674,120
201 Let24d| 6,800 26,800 220,000
02 =24l 6,800 26,800 A20,000
O1 3322 ¥ HA 1,800
PREMDIE FoAAL VLA BB23(FD,
*=5) 150,000& 128 1,800
O3 A€ &Hl |t 5,000
POSMOIS AL AS Y BHIS A
(A= 159m BAEY F) 5,000,000 » 14! 5,000
307 21201 A 2,888,900 2,181,900 707,000
05 RIZt2IEt = 2,888,900 2,181,900 707,000
OSAEF HII= U2AE XMelAH
112,000& x25,793.75& 2,888,900
MEHIE HISANE 29 5,329,594 3,052,408 2,277,186
201 L2l 20,000 20,000 0
02 =224l 20,000 20,000 0
O3 A€ &l |SXdl 20,000
DAMSHIIES H2SALE 2E 2 FHIKX U
(80E /Y ,218 2,496m ) 20,000,000& *14] 20,000
202 (4l 2,880 0 2,880




DM ETHA

M HOIE2 HMel 2
I HIISHMEIAE EX & 2EAMY

2 S 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 2L Hl 2,880 0 2,880
OMEHIISHSIIAIALE 22|83 & X
240,000 x12& 2,880
307 giztol & 5,306,714 3,032,408 2,274,306
05 QIZ2tR E 2 5,306,714 3,032,408 2,274,306
OMEHII S M2 AL FAESY DY (A
|, etz ) 2,128,574
>13 0| 106,428,630 ~12& 1,277,144
>2s Dl 106,428,630 x8<& 851,430
OMEHI S HI AL FE2H HAH (A2
H ,M&Hl £) 3,178,140
> 13| 158,907,000 x12& 1,906,884
>23 0| 158,907,000 x8& 1,271,256
AFA BIUES JIBAL SIAY 555,000 2,822,000 A2,267,000
= 301,000
= 211,000
Al 43,000
402 BI2H X201 M 555,000 2,822,000 N2,267,000
= 301,000
& 211,000
Al 43,000
02 OI2HCH &4 AF S HI 555,000 2,822,000 N2,267,000
OZ2Z2MEES2I|BAE S ALY
555,000, 000& = 14! 555,000
= 301,000
= 211,000
Al 43,000
HFEA MY HEAIE SEHAIS 17,265,000 15,066,667 2,198,333
= 9,655,000
= 6,956,000
Al 654,000
402 BI2H X201 M 17,265,000 15,066,667 2,198,333
= 9,655,000
= 6,956,000
Al 654,000
02 OI2HCH &4 AF S HI 17,265,000 15,066,667 2,198,333
OMYDIl HEAIE SHEHANY
17,265,000,000 =14l 17,265,000
= 9,655,000
&< 6,956,000
Al 654,000
MNaMEeEsdH 849 1,210,000 20,000 1,190,000
201 Yete | 20,000 20,000 0
02 2% H| 20,000 20,000 0
O3 A& Z&Hl |Aldl 20,000




SN HETE D
X HolE Xel 2

S HIIS™eANE X & 2EAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DIUFHEEME HE L HHISXUI(0E/
& 619m) 20,000,000& » 14! 20,000
307 glz2+ol & 1,190,000 0 1,190,000
05 RIZt2E = 1,190,000 0 1,190,000
OXNEHEES8ME 29 1,190,000, 000& 14 1,190,000
Has SAAY 264,812 267,312 A 2,500
= 17,000
< 3,150
Al 244,662
H&g8lisHllE =843 N 156,500 156,500 0
= 12,500
Al 144,000
301 et a3z 156,500 156,500 0
= 12,500
Al 144,000
(AP S =S = 156,500 156,500 0
ONMegss8 83 (HUE, s48lY)
12,000,000& =128 144,000
SEHHE = 243 12,500,000& * 14! 12,500
= 12,500
MESEItsHII2 225310 4X N2 38,000 38,000 0
= 4,500
< 3,150
Al 30,350
402 2I2H X201 M 38,000 38,000 0
= 4,500
< 3,150
Al 30,350
01 2I2tR2E X 38,000 38,000 0
OsZHJIg =338 x(g-H)
6,000,000 *30H 2~ 18,000
= 4,500
< 3,150
Al 10,350
OBSZY HES =2 22D &1
10,000, 000& *2H A~ 20,000
He&s8IitsHllE 2el=AHE 23 46,300 51,300 25,000
206 = Hl 46,300 51,300 A5,000
01 =8l 46,300 51,300 A5,000
OHEZES &2 =HE(=EE)
300,000 =304 9,000
OHg&E 3sl=¢& 100, 0002 307K 3,000
OMeEE 2el=AHU43) 210,000 *30H 6,300
OMEEE 12U (HSFY HES)
2,500& *1,000H 2,500
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A MEX D
M HIIES XMl 2el
G2 SAZSFHIIS tHE SEH(2S3) ol & (e H)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DRFIDDIE SSMH 2SS SASMY Dl &
CIAIAE X2 70,000,000 =14l 70,000
401 AlEHIZL £ 0HY| 104,500 0 104,500
01 Al&H| 104,500 0 104,500
OXN=EZ2SFE RFIDDIE S&H SASMAY D
A AE” 2= 104,500,000 = 14! 104,500
Q=22 352,596 472,755 A 120,159
& 9,970
Al 342,626
OFECIE St&4A JtRD| 331,297 416,320 N 85,023
& 9,970
Al 321,327
5 2 2013 &4A A2 258,697 245,720 12,977
201 gEt2Ay| 33,180 31,320 1,860
01 AP 2t 2| H| 20,160 18,720 1,440
O1 detf==2H| 20,160
DESSHEA HEFL(MEAE 2 27HA)
60,000 2801 A~ «12& 20,160
02 Z2=2=2494| 13,020 12,600 420
O1 222 2 HA 13,020
DE2ESIEAMMI, LS (MEAIZE 2 64
) 155,000 70 &~ x12& 13,020
307 212t0| & 204,517 194,400 10,117
05 QIZ2tEF 2 204,517 194,400 10,117
OZ2F Y& 210/ &4 HAz Q2HP[E
204,517 ,000& = 14! 204,517
401 Al HI L 2 0HHI 21,000 20,000 1,000
01 Al&H| 21,000 20,000 1,000
OZ2Z L 2H0ISH&A 2413000 A)
21,000,000& x 14! 21,000
e St&E A 2H 20,000 20,000 0
201 et | 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0
O1 Bt==H| 20,000
DOjE & A X HOZ2E JRA(ZSHHEE
s) 20,000,000& = 14! 20,000
Olsst&a X (LA) 10,000 10,000 0
401 Al HI L 2 0HHI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
Oztol(0ls)at&A &x1 ¥ WA
5,000,000 *2= 10,000
SSot&EA O L 22ldl XA 42,600 40,600 2,000




A MEX D
M Q2
e OIS0 SH&EA JFRD| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 9,970
Al 32,630
201 gEt24Hy| 15,300 4,500 10,800
& 2,570
Al 12,730
01 AP 2t 2] d| 15,300 4,500 10,800
OEZHEHSAHA S stHEA HOYE2E X
1,900,000 = 1A! 1,900
& 570
Al 1,330
O &x= 13,400
et 2t SEA AX
13,400,000 x 14! 13,400
= 2,000
Al 11,400
307 2Iz2t0| A 3,000 3,500 A 500
o= 900
Al 2,100
02 QI2tAAE X2 3,000 3,500 A500
OEZHEHSAHA S stEA HOYEZE N
3,000,000& x14! 3,000
o= 900
Al 2,100
401 A& HI L 204 HI 24,300 32,600 A 8,300
o 6,500
Al 17,800
01 Al&H| 24,300 32,600 A 8,300
OFzH AL S &EA AIE A
23,300,000& x 14! 23,300
== 6,000
Al 17,300
OZ2=sH&4A LEDS WA 1,000,000 14! 1,000
& 500
Al 500
JHelst=HelAld 22l 21,299 56,435 AN 35,136
HelatE=Hel AlE 22| 21,299 56,435 N 35,136
201 LBt 9| 15,459 14,595 864
01 AP 22| H| 1,632 1,632 0
O1 2Btx=2H| 1,632
DINCIGIE=HEIAIE =2 2HA =52
8,600 104 ~12& 1,032
DNEEZ EMIE 50,000 ~12& 600
02 2224 H| 13,827 12,963 864
O1 222=2 % HA 7,827
DOl el AlE EA CHUE S REYs
320 x1,800H 12 6,912




A4 &k X} 2 ot
B Qe
Ol GtE el AlE 22 ol HMS)
!
SA - B (SA) - MRAY - BYS e 2
DOofelste=xelAld NESHEXE XHsS XAl
S 2382= 915,000 1CH 915
O4 Xt&. el 6,000
D?HO._EF HelAld XNess SR (R
= Bl Xidl) 6,000,000 = 1CH 6,000
202 44l 5,840 5,840 0
01 = LH 4 Hi 5,840 5,840 0
OMelst=XelAld e
20,000 3«8 «201x 128 3,840
OYSAZZA 2 20 (EEAHES
A7) 50,000& *402] 2,000
2SS (M) 574,360 239,000 335,360
HWEHAX S (MEX2 1) 574,360 239,000 335,360
HWEAHHX S (NS EFH XA =) 574,360 239,000 335,360
02 JI=sdE=S 574,360 239,000 335,360
(RPIE=RSE-—3= 574,360 239,000 335,360
OB Z =HISXA JIZZE(HEH)
46,220% 60,000 *10/100 277,320
O Z =HIEXA JIZZTH(HHEAH)
74,260% *40,000E %10/100 297,040
MY (HE TR ) 118,842 110,814 8,028
A2l 63,029 58,485 4,544
ol 2| (ME XA D) 63,029 58,485 4,544
101 @124l 63,029 58,485 4,544
01 2= 63,029 58,485 4,544
OAtZexE 8,754 x2421x300 Al 2t 63,029
|2 ZHl 55,813 52,329 3,484
=23l (4& Xt D) 55,813 52,329 3,484
201 ¢er24l 26,253 24,689 1,564
01 At22t2l bl 20,693 20,441 252
O1 Let==EH| 14,645
DEREMA2I=EH 14,645,000& » 14 14,645
O5 =&l 6,048
DOt 522 R 7,000& #2401 +33| x 122 6,048
02 =24l 5,560 4,248 1,312
O1 3323 ¥ HMA 4,560
DRERS 1,900& *2,4004 4,560
O3 A& & Hl |Xibl 1,000
> S A X 500, 000& »2CH 1,000
202 (44l 25,360 23,440 1,920
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